
Math 2102: Worksheet 1

1) Exercise 6 from §1B.

2) Let U1, U2 ⊆ V be two subspaces. Prove that U1 ∪ U2 is a subspace if and only if U1 ⊆ U2 or
U2 ⊆ U1.

3) Assume that F has not characteristic 2. Prove that the union of three subspaces is a subspace if
and only if one of them contains the other two.

4) Exercises 16, 17 and 18 from §1C.

5) Prove of give a counterexample: suppose that V + U1 = V + U2 then U1 = U2.

6) Exercise 24 from §1C.

7) Exercise 3 from §2A.

8) Exercise 7 from §2A.

9) Exercises 15 and 16 form §2A.
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